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1

10

AtX = 7 , the difference 2 sinX — cos 2X 1s

1) 1.2)23)3 40
The value of cos” [%] is
1) 1 2) 1 3) 1 4) 0
2 4
If f(X) = sin’X, then f| [%] equals
1) 1 2) % 3) % 4) %

If f(X) = sinX + cos 2X, then {( ) is
) 1 2)23) 04 -1

. T )
The value of sin—= cos 7 is

3
3o 1
1) 5 2) 3 3) - 4) 0
If f(x) = sm then () equals

43

D12 3433 32 9 5

The value of cosﬁ—sin3—” is
3 2
1) 1l 2) 2 3) —% )—1%
If f(X) = cos 3X + sinX, then f[%] equals
1223 -1 40
The value ofsm[Tﬁ] —cos [%
1) —15 2) 1% 3) %
The numerical value of sin%z +cos % is
1) 1+£ 2) I —1+£ 4)

2

Name:




Regents Exam Questions Name:

F.TF.A.2: Determining Trigonometric Functions 2
WWW.jmap.org

11 Iff(X) = sin2X + cos X, what is f{%}?

1 1+§ 2) 1+5/§ 3) A2 4 0

12 The value of sin% is

| VL J3

1)52)—33)24)—2

13 If f(X) = 4cos 3x, what is the value of f[%]?
1) —~[2 2) =2+[2 3) 135 4) 4

14 The value of sin3—7[ +cos 2z is

2 3
1 1 1 1
1)22)12 3) —12 4) )
. 4.
15 The value ofsmT 18
3 3
D227 2 2

16 If f(X) = cosX +tan§, then f(7) is

1 “/5;3 2) “/—3_3 3) 341 4) 31

17 The value of sin% +tan% is

342 14402 3442
1)%2)«/—; 3 +2«/—4)«/—42r«/—

18 The exact value of sin[%[] i
3 3

1S
1)52)— ) =5 D 5

19 Which expression, when rounded to three decimal places, is equal to —1.155?

1) sec[%[] 2) tan(49°20") 3) sin[—%[] 4) csc(—-118°)
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1 ANS: 3 REF: 068437siii
2 ANS: 2 REF: 088426siii
3 ANS: 1 REF: 089322siii
4 ANS: 1 REF: 068924siii
5 ANS: 1 REF: 088935siii
6 ANS: 3 REF: 019420siii
7 ANS: 1 REF: 06953 1siii
8 ANS: 1 REF: 069718siii
9 ANS: 1 REF: 089722siii
10 ANS: 3 REF: 010017siii
11 ANS: 1 REF: 080317siii
12 ANS: 2 REF: 018732siii
13 ANS: 2 REF: 089626siii
14 ANS: 3 REF: 0698109siii
15 ANS: 4 REF: 060120siii
16 ANS: 4 REF: 068129siii
17 ANS: 1 REF: 068528siii
18 ANS: 4 REF: 012501aii
19 ANS: 1 REF: 011203a2



